
Algebraic Fractions

Simplify Fully 
2𝑥 + 6

𝑥2 + 5𝑥 + 6
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Show that 
4𝑥 + 12

𝑥2 − 𝑥 − 12
÷

𝑥 + 4

𝑥3 − 16𝑥
Simplifies to 𝑎𝑥 where a is an integer. 

Write 
2

𝑥 + 5
+

3

𝑥 − 2
as a single fraction in its simplest form. 

Simplify fully 
𝑥 + 2

3
+
𝑥 − 3

4

Simplify Fully 

𝑥2 − 4

𝑥2 + 4𝑥 − 12



Algebraic Fractions

Simplify Fully 
2𝑥 + 6

𝑥2 + 5𝑥 + 6

=
2 𝑥 + 3

𝑥 + 2 𝑥 + 3

=
2

𝑥 + 2

www.missbsresources.com

Show that 
4𝑥 + 12

𝑥2 − 𝑥 − 12
÷

𝑥 + 4

𝑥3 − 16𝑥
Simplifies to 𝑎𝑥 where a is an integer. 

Write 
2

𝑥 + 5
+

3

𝑥 − 2
as a single fraction in its simplest form. 

Simplify fully 
𝑥 + 2

3
+
𝑥 − 3

4

=
4 𝑥 + 2 + 3 𝑥 − 3

12

=
4𝑥 + 8 + 3𝑥 − 9

12

=
7𝑥 − 1

12

Simplify Fully 

𝑥2 − 4

𝑥2 + 4𝑥 − 12

=
𝑥 + 2 𝑥 − 2

𝑥 + 6 𝑥 − 2

=
𝑥 + 2

𝑥 + 6

=
2 𝑥 − 2 + 3 𝑥 + 5

𝑥 + 5 𝑥 − 2

=
2𝑥 − 4 + 3𝑥 + 15

𝑥 + 5 𝑥 − 2

=
5𝑥 + 11

𝑥 + 5 𝑥 − 2

Answers

=
4 𝑥 + 3

𝑥 + 3 𝑥 − 4
÷

𝑥 + 4

𝑥 𝑥2 − 16

=
4

𝑥 − 4
÷

𝑥 + 4

𝑥 𝑥 + 4 (𝑥 − 4)

=
4

𝑥 − 4
÷

1

𝑥 𝑥 − 4

=
4

𝑥 − 4
×
𝑥 𝑥 − 4

1

=
4𝑥 𝑥 − 4

𝑥 − 4

= 4𝑥

So 𝑎 = 4


